EARAROBEEIERT — 2 N— IBISH —F

20185F9A24H (A) 13m{£E2H

m E3IRYE Y7%3% ‘ (%] & ‘ [RErE] - | 4 (&) 14000 B
[AE£] 17 :240,000 " ~ 23%&:72,000 M 33 :24,000” 43 :14,000 M . 57 :10,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N HETE . 40~ - RETiE (58
117l g| 2A>77U1—0 3 a%ﬂu 1.(3_0).4 5-4-2-2 | 39.8 2 | 466 Ei?ﬁ? (=%)
QAL EPY - XA LTSS H10) | mapngss
S_g # 3 | BARBE 1:30.4 1-1-1-1 [39.9| — 11 458 | REM (£H)
2lglig 71T —41Y 56.0 (7E) (-6) | EFHER
24— FO—X B:41FNI v b— RELTE C
< B3 | REDEC 1:30.6 3-3-4-3 [39.7| — 6 501 | REFE (£H)
3 o | @Y — 54.0 (3/4) s | MEDE=
LAY avHLYY BiAYvyRELE RAHHIS
N . [iim}2) : —6-6- — ABR®YE (ER)
4 6| AT O i 3 i 1.(321).0 6-6-6-5 | 39.5 1 :fse; Lae
LixfavkR—5— B:bhy7avF ke
S _ 3 | RBEEZ 1:31.2 4-5-5-4 |39.9| — 9 44 |HRIIES (1£8)
5/7/9|77v9F =% 54.0 (1 1/4) 3 |=EEE
R:T59 84K BiEa—F1TILTA BEAZ &Y K
S s 3 i 3 | BEE—ER 1:31.2 2-2-3-6 |40.6| — 3 430 | JIIEZEF (1EH)
6lgl11| *T¥av~x1x3 54.0 (74=) (45) | AAEFIE
R:4— kLRI BET/KLO FrL45
. it 3 | RS 1:31.5 11-11-9-8 | 38.4 | — 5 438 | BRBXTE (1£8)
7 4 I"J]:ED_XT’], 54.0 (11/2) (+9) FHOA A .
:xA1ZTyr—2 B:byEA-XIFC b LEHS
S s A 231, —7-7- . — BAH—X (£8)
8 e 3 e (11311/47) 7-7-7-7 | 39.5 4 (4:377) i
R:O-X¥x>J4L B:4T77=T) — B RS
e s 3 | JIBh 1:32.0 9-8-8-9 |39.3| — 8 390 | :HiERE (1£%)
9|1|1|L—>/¥x230 54.0 (1 1/2) 1) e
L:N—HISE Bk B %K
10 7| AT wIL ke 3~ 4 3 fgﬁﬂgk 1:(332).6 8-9-10-10 | 39.8 | — 10 (4_651) ;;{;Eifg (£=8)
R:HREFY BHAF3UTFRN FK B
-5 B 3 | WTHE 1:34.8 10-10-11-11| 41.6 | — 7 415 | EAREAT (1£8)
155 | EF-==7EHl 54.0 (51%) o |BER
R:hE—XT—F— B:PaH-N—hra Lt
® I —F—@EBIERL
1d—74— 10,11,2,9,8,6,3,7,1,5,4
20—F— 10,11,2,8,9,6,3,1,7,5,4
Gal=5r= 10,8,11,2,9,6,3,1,4,7,5
40—+ — 10,8,2,9,6,11,3,4,1,7,5
[ N3
B OB 8 230H 714K 8-10 10,410 % E 7-8 700M RPEL ) 2-8-10 109,080M
8 B 8 200M 2-8 1,390H B & 8-10 41,7704 K31 8-10-2 313,200
10 2,380 2-10 32,960M B H 8-10 27,090M
2 530M

ABICOVWTRDTEEERROODE. TR LIV,




